14.272 Industrial Organization II

Study Guide/ Problem Set #5

Access Pricing
One-Way Access

1. Show that combining ECPR with a partial price cap that does not include the access charge de facto subsidizes non-competitive segments to the detriment of competitive segments. [LT (1996), p. 244]

2. Why doesn’t a global price cap eliminate the incentive/ability of the incumbent to set access prices at a level that allows it to “prey” on entrants?

Two-Way Access

1. In the duopoly case discussed in L-T(2000), box 5.2, show that if the networks use two-part tariffs rather than linear prices, the access charge is no longer an “instrument of collusion.”

2. Is a “bill and keep” interconnection regime (a = 0) efficient?

Access Pricing Problem

France Telecom (FT) is a regulated monopoly telephone company that traditionally has sold "bundled" local and long distance telephone service to consumers throughout France.  As a result of new European Union (EU) rules, FT must allow competing long distance carriers to use its local networks to complete long distance calls.  That is, FT must offer competing long distance carriers access to its local networks and charge them an access price Pa for each call.  (Assume that local calling will remain a monopoly.) FT's "accounting" costs are given by:



C = KN + cNq + cLDqLD
where q is the total of strictly local calls (qL) plus the number of local connections associated with completing long distance calls (qLD).  Each long distance call requires a local connection at each end so q = qL + 2qLD.  KN are the fixed costs of the network which are made up primarily of the amortization of the historical investments in the network using straight line depreciation of the original cost of the equipment plus a return on the undepreciated portion of the historical investments. cN is the short run marginal cost of using the local network to complete one local connection and cLD is the short run marginal cost of one call using the long distance network.

The pre-competition prices that FT was authorized to charge are given by:


PL = KN/q + cN 


[local call price]


PLD = KN/q + 2cN + cLD   

[ long distance price including local access]

The French government is determined to keep the price of local calls at their pre-competition level while encouraging competition in the provision of long distance service (but not local service) and avoiding any stranded costs.


a. In light of the prices, costs, and objectives of the French government, is it appropriate local access price policy to charge competing long distance carriers an access price equal to the marginal cost of completing long distance calls on the local network (Pa = 2cN)? 


b.  What is the efficient component pricing rule (ECPR) and what access price would it imply in this case? 


c.  Evaluate the following proposal.  The regulator argues that a superior alternative to relying on either ECPR or short run marginal cost to determine the access charge is to rely on an estimate of the long run economic cost of replacing the network with modern technology, applying economic depreciation rates and a nominal cost of capital to amortize these estimated capital costs over time.  The access price would then be given by Pa = KR/q + 2CR, where KR is the amortized cost of (hypothetical) state-of-the-art capital equipment needed to replace the existing network and CR is the (hypothetical) short run marginal cost of using the state-of-the-art network to complete a local call. 


d.  Discuss and evaluate Laffont and Tirole's proposal to rely on a global price cap mechanism rather than the three previous alternatives.  How would it work?  What are its strengths and weaknesses? 

